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PRODUCER CONSUMER PROBLEM USING SEMAPHORES



[bookmark: FILE MANIPULATION COMMANDS][bookmark: Creation:][bookmark: 2. PROGRAM FOR SYSTEM CALLS OF UNIX OPER][bookmark: PROGRAM:]AIM:
[bookmark: e) lp][bookmark: AIM:][bookmark: ALGORITHM:][bookmark: AIM:]To write a C-program to implement the producer – consumer problem using semaphores.

[bookmark: AIM:][bookmark: AIM:][bookmark: f) man][bookmark: Viewing:][bookmark: 1. Program for simulation of cp unix com][bookmark: PROGRAM:][bookmark: AIM:][bookmark: AIM:][bookmark: AIM:][bookmark: AIM:]ALGORITHM:

[bookmark: Add text to an existing file:][bookmark: CONCEPT:][bookmark: 1. PROGRAM FOR SYSTEM CALLS OF UNIX OPER][bookmark: PROGRAM:][bookmark: 1. Write a Shell program to check the gi][bookmark: PROGRAM:][bookmark: ALGORITHM:]Step 1: Start the program.
[bookmark: UNIX:][bookmark: CONTENT:][bookmark: ALGORITHM:]Step 2: Declare the required variables.
[bookmark: Concatenate:][bookmark: ALGORITHM:][bookmark: ALGORITHM:]Step 3: Initialize the buffer size and get maximum item you want to produce.
[bookmark: g) who & whoami][bookmark: a) date]Step 4: Get the option, which you want to do either producer, consumer or exit from the operation.
[bookmark: PROGRAM:][bookmark: 3. Write a Shell program to find the fac]Step 5: If you select the producer, check the buffer size if it is full the producer should not produce the item or otherwise produce the item and increase the value buffer size.
[bookmark: h) uptime]Step 6: If you select the consumer, check the buffer size if it is empty the consumer should not consume the item or otherwise consume the item and decrease the value of buffer size.
[bookmark: LINUX:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:]Step 7: If you select exit come out of the program. Step 8: Stop the program.

[bookmark: i) uname][bookmark: Features of vi:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: FLOWCHART:]PROGRAM:

[bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: ROGRAM:][bookmark: PROGRAM:]#include<stdio.h>
[bookmark: STRUCTURE OF A LINUXSYSTEM:][bookmark: b) cal][bookmark: PROGRAM:][bookmark: PROGRAM:]int mutex=1,full=0,empty=3,x=0; main()
[bookmark: j) hostname][bookmark: 3. PROGRAM FOR SIMULATION OF GREP UNIX C]{
int n;
[bookmark: c) echo][bookmark: k) bc]void producer(); void consumer(); int wait(int);
[bookmark: 2. Write a Shell program to check the gi][bookmark: UNIX KERNEL:][bookmark: EMACS Editor][bookmark: d) ls]int signal(int); printf("\n1.PRODUCER\n2.CONSUMER\n3.EXIT\n"); while(1) {
printf("\nENTER YOUR CHOICE\n"); scanf("%d",&n);
switch(n)
{ case 1:
[bookmark: SHELL:]if((mutex==1)&&(empty!=0)) producer();
else
printf("BUFFER IS FULL");
 break;	
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case 2: if((mutex==1)&&(full!=0)) consumer();
else
printf("BUFFER IS EMPTY");
break; case 3:
exit(0); break;
}
}
}
int wait(int s) { return(--s); }
int signal(int s) { return(++s); } void producer() {
mutex=wait(mutex); full=signal(full); empty=wait(empty); x++;
printf("\nproducer produces the item%d",x); mutex=signal(mutex); }
void consumer() { mutex=wait(mutex); full=wait(full); empty=signal(empty);
printf("\n consumer consumes item%d",x); x--;
mutex=signal(mutex); }
